Instrukcja montazu gmoli dla / Crash bars installation instruction for

W sktad zestawu wchodzi:

SUZUKI GSF 1250 BANDIT

2. Orurowanie lewe

3. Szpilka przednia M10/240 mm wraz z podktadkami i
nakretkami

4. Szpilka tylnia M12/185 mm wraz z podktadkami i
nakretkami

5. 4 $ruby imbusowe M8/35 mm

)

The set includes:

1. Right piping.

2. Left piping.

3. Front engine bolt M10/240 mm with nuts and washers.

4. Rear engine bolt M12/185 mm with nuts and washers.
5. 4 allen bolts M8/35 mm.

M=

www.heed.com.pl

(@

Orurowanie powinno by¢ zaktadane tylko przez osobe wykwalifikowana. Nalezy zwrécié szczegdlng uwage na wigzki
elektryczne, przewody hamulcowe oraz przewody gumowe chtodzenia silnika tak, aby nie byty przycisniete lub nie tarty
podczas eksploatacji z powodu Zle przeprowadzonego montazu orurowania.

Catos¢ orurowania zatozy¢ swobodnie dopiero na koncu skreci¢ docelowo.

~

1.Zdemontowac plastikowe ostony ponizej siedzenia motocykla (rys. 1 pkt. 1).
. Zdemontowac oryginalng szpilke przednig mocujaca silnik (rys. 1 pkt. 3).
. Zamontowa¢ bez nakretek szpilke M10/240 mm z zestawu w miejscu usunietej oryginalnej szpilki.
. Zdemontowac oryginalng szpilke tylng mocujaca silnik (rys. 1 pkt.2).
. Zdemontowac z lewej strony motocykla oryginalne sruby trzymajace podstawe dzwigni zmiany biegow (rys. 2 pkt. 1).
. Zatozy¢ lewe orurowanie wraz z nowg tylng szpilkg M12/185 mm z zestawu (rys. 3)
UWAGA! W trakcie tej operacji nalezy zwrdci¢ szczeg6lng uwage na wigzki elektryczne, obok ktérych przebiega
orurowanie. Nalezy wykona¢ czynnos¢ tak, aby wiazki nie zostaty docisniete przez mocowanie orurowania.
7. W miejsce wykreconych $rub podstawy dzwigni zmiany biegéw wkrecié 2 Sruby M8/35 mm z zestawu, mocujac
jednoczesnie za ich pomoca dolny uchwyt lewej czesci orurowania (rys. 4 pkt. 1).
8. Odkrecic z prawej strony motocykla oryginalne sruby podpory silnika (rys. 5 pkt. 1).
9. Zatozy¢ prawg czes¢ orurowania na uprzednio zatozone szpilki i przykreci¢ lekko nakretkami z zestawu.
10. Przykreci¢ dolny uchwyt prawej czesci orurowania 2 $srubami M8/35 mm z zestawu w miejscach po wykreconych
Srubach podpory silnika (rys. 1 pkt. 4).
11. Zamontowad ponownie plastikowe ostony ponizej siedzenia motocykla.
12. Cate orurowanie dokreci¢ docelowo.

&)

Piping should be installed only by a qualified person. Pay particular attention to the electric beams, brake hoses and rubber
hoses for engine cooling, so that they are not pinched or they doesn't chafe during operation due to wrong installation of
piping. During installation it is recommended to set up piping freely.

o uhs WwN

1. Remove the plastic covers below the motorcycle seat (Figure 1 pkt. 1).

2. Remove an oryginal front engine bolt (Figure 1 pkt. 3).

3. Install (without nuts) engine bolt M10/240 mm (from the set ) in place of removed on previous step oryginal front engine
bolt.

4. Remove an oryginal rear engine bolt (Figure 1 pkt.2).

. Remove on the left side of the motorcycle original bolts holding the gear lever base (Figure 2 pkt. 1).

6. Install the left piping with new rear engine bolt M12/185 mm from the set (Figure 3)
WARNING! During this operation, pay special attention to the cable harnesses, which run alongside the piping.
Proceed in such a way that the beam is not being pressed by the piping.

7. In place of the removed bolts holding base of the gearshift lever screw in 2 bolts M8/35 mm from the set, at the same
time use them to fix lower handle of the left piping part (Figure 4 pkt. 1).

8. On the right side of the motorcycle uninstall oryginal bolts from the engine support (Figure 5 pkt. 1).

9. Put the right side of the piping on the previously established bolts and slightly tighten by the nuts from the set.

10. Screw lower handle of the right piping part using 2 M8/35 mm bolts from the set in places of removed bolts from the

(%21

11. Install the plastic cover below the motorcycle seat.
QTighten all the piping making sure the piping don't presses any wires.

engine support (Figure 1 pkt. 4).




Instrukcja montazu gmoli dla / Crash bars installation instruction for

SUZUKI GSF 1250 BANDIT

Nnkek=iJ

www.heed.com.pl




